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N SAME FOR EVERY EXPONENTIAL GRAPH:

L | Algebra 1 ~ Day 1, 2/26/2018 Graphing ngm iential Functions NOTES
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‘Writing Exponential Equations Notes
Ngebra 1~ bay1,2/26/2018
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‘Writing Exponential Models W

Exponential Mol ¥ = (o) a=sartvalie

b= what you mulply or divide by (rate of change)

[x[ 2 1lol1[2
0 1296 216 | 36 | 6 | 1

grow near your house. At first there were 12 flowers but you notice that

b. How many flowers wil there be after 15 days?
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Graphing/Writing Exponential Equations TOTD (2/26) Name

Graph the given exponential functions.
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February 26, 2019, Tuesday

Sta¥e 2 characteristics of each exponential gragh.
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Algebra 1~ Day 2,2/27/2018
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07D ~ Transformations/Characteristics Name Algebra 1 ~Day2,10/3/2017 Unit 4 Pracice Quiz Name
Graph & dentiy all haracteristics Fillin the tablefo cach exponenal fancion and
. B
1
4 H o o » 3 F0) =3 B
Transformations - «
Range. ¥
| v 5
Domain Range Asymprote
2 S
Asymptote_ Keintercept
1 Vinercape ]
Interval ceonsy INCREASE  DECREASE
S end Bebavior o
Kintercept Ventercept sxos ey 1
1 -
End Behavior Asx=eyo 2
2 R X e f(x) o Circle one: 3
raef - S t
Average Rate o change 2,0 ARoc 0,11
Choose one to turn in. You may work with someone! x y
a
~ | [=
2) Use thegiven graph todentity the characterstcs. | |
TOTD ~ Transformations/Characteristics Name ) e v 1
Graph & identify all characteristics. Domain,
y-a(d Range
3 Asymptote
Transformations:
T Kintrcepe
Ny Domain_____ Range Voercepe
eymprote end Behavior
o Asxs ey
" INCREASE Asxomy
1 DRCREASE v
Giceone:
2 ercept Ventercept P
3 Fnd Behavior AROC[-1,0:
xo o f(x) o
Ao f0 -
Average ate of change -1, 0}
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Consider the parent function 1) = ()

. Feb. 27, 2019, Wednesday
@) f=2(2) a
: Copy the exponential graph, state the:

E domain, range, asymptote, interval of increase or interval of decrease, x-intercept, y-intercept, and end behavior
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Day3 ~2/27/2018 Exponential Growth & Decay Notes.
10 = (b
Day 3 ~2/28/2018 (Growth/Decay HW Name.
a= b= x= Growth: y = P(L+r) Decay:y=P(-r)
10)=2(L5F 10)=200.5%
naun
bethe mice populain e 3years?
Growth: Decay:
2) The mumberof mosqutoes. e 1998,11999,
Another formula: 1) = a(1 +
a= r= t
5 rbougs b year
1) =2(1+0.5¢ 10 =2(1 - 0.5¢ warihater 8 year?
1) The numberof fish in a pond is increasing at a rate of 12% per month. At the beginning of the year, P What will your
‘there were 130 fish in the pond. Write a function modeling the number of fish in the pond. Use the salary be in 5 years?
function to find the number of fish n the pond after  manths.
Starting amount: | Growth Factor: Function: Number of fih afer 8 $ 1% each 2yearst
months:
a- be1+ [ EI I D) g year. What
will e the proft in 8 years?
2) Tom boughta used carfor $7,500.00. The value of his car depreciating by 18% per year. Wrte a 7 You 01 10%each
function model ¥ il hi n 10years? year. What il your stock be worth n § years?
8) Your car cost$12: 20151 15%
anmualy. How much willyourcabe worthin 7 years?
3) Aniliness isspreadi ity. . The number o
infected i . Wi i i fpeopl
ys. ill it take for 190
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1. Consider the parent function f(x) = 4%. How
would it

Feb. 28, 2019, Thursday were tobe changed o /(x) = 407 — 22

a) right 1and down 2
Identify as growth or decay 1) left 1 and down 2

Algebra 1 ~Day 3,10/4/2017 Unit 4 Quiz 1A Name
5.

the table.

©) right 2 and down 1
d) left 2and down 1

Identify the characteristics of the function
below.

2graphs & 2 equations.

The the exponential growth of decay?

2
y Domain N
6. Write an equation for the given graph.
| Range. ;
Asymptote A flx)=2-3"
B f)=32
Xeintercept .
Yeintercept N 1
circleane,
Increastng rDocreasing 1
£nd Bohavior: |
Asx o -y =
Asx oy
3. Ms. Graham has 3 tlips n hor garden. The AT,
number of ullps i her garden doUbles eVET |~ ner

month.
‘many tulips are in her garden.
Ay =33

4. Calculate the average rate of change of the
‘graph over the interval [0, 2].

Feb 15-10:59 AM Feb 15-11:00 AM

1~ Day3,10/4/2017 Uniet e Day 4 ~ Geometric Sequences Notes
1. Consider the parent unction f(x) = 4. How | 5. Write an exponential equation given the able. Geometric Recursive Formula: Geometric Explicit Formula:
would the original graph be transformed ifit 1lol1] 2
were to be changed to £(x) = 400 27
a) right 1and down 2 y|®% 8|16 | 32
b) left 1 and down 2 .
A y=a0y Explicit Forml
o) vight 2and down 1
B. y =202
@ left2 and down 1 ¢ yo10r 12,4816,
e e e o™ D. y = 4(B8)

2. 1dentify the characteristics of the function
below.

Domain___ 6. Write an equation for the given graph.
i 1 A fw =227 = T
N I o -
Keintercept . ¢ f@=az jan Ay ANARY 5.15,45,135,
Yeintercept D f)=52* . e
Girce one: :
Increasing s Docroasing
Fnd Rehavior ! 320,80,20,5,
Aoxomy o
Nsxooyo /
e 1

3. Ms. Graham bas 3 wlips in her garden. The
‘mumber of tulips in
‘month.

‘many tulips are in her garden 2
A y=@) 5
B y=3G)°
¢ y=20)° 3 y
2. Write an explict function to represent the sequence.
by 3@ expl P q
4. Caleulate the average rate of change of the b- How many members wilthe colony have after 3 years?
graph over the interval [-1, 0},
T € How many years will it take for the colony to reach greater than 1,000 ants?
i\
|
1 4
i T

7.21,63, 567,
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Geometric Sequences HW. Name Algebra | Name__ D1

Geometric Sequence Practice Dat Perod,
Find th mext three tems n each geometri sequence.

State if each sequence is geometric
124816

1) -4, 8, -16, 32, 22, 12, 26, 40,
2. 400,200,100,50,

3. 4,12,36,108,

Find the missing term(s) in each geometric sequence.

31117, 23, 29, 44,12, 36, 105,
4 13,9
. 618, .
3 -10, -5, 0,5, 6 -2, 12, 72, —432,
s 81,243, Fxplici Recursive:
75555 Explicit Recursive:
8 12,3,%3/16, Explicit Recursive:
7 1.6, 3. 216, ) 9, 9. 999, 9999
. i 10. What s the 10° term ofthe

‘The first term of  geometric sequence is 1, and the common rat
sequence?

10, Whats the 11 term of the geomefric sequence 3, 6,12, 24, .2

Find the common ratio.

9 4.8 16,32, 10) 3,9, 27, 81
1 During the 11, Fhomes,
during the 2nd month they built 6 A during th 12 homes.
& Write the recursive rule for the sequence.
b, Write the explicit rule for the sequence.
112,832,128, 12) 4, 12, 36, 108,
. When will the construction company build 18 homes?
1 K Setiee L A b eners el M v et e AT

Feb 15-11:04 AM Feb 15-11:04 AM
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13) 3,9, 27, 81, 14) -1, =4, 16, 64,

195)3, 6,12, 24, 16) -4, 20, -100, 500,

Given the recursive formula for a geometric sequence find the first five terms.

3

1 a=a_

2) =4,

Feb 15-11:04 AM

37 375,75, 15, 3, 38) 4. 20, 100, 500,

39) -1, 6, 36, 216, [

a1t
) 24

Find the explicit formula,

A1) =36, 12, 24, a2 125, 25,5,

4y =2, 10, =50, 250,

45 02, -1, -5, 25, 46) 1875, 375, 75, 15,

4732168, 4, 48) -3, -9, 27, 81

February 26, 2019

Given the explicit formula for a geometric sequence find the 8th term.

26) 4 =4 (2

=32 '

ool

S~ 2
- N

Feb 15-11:04 AM

March 1, 2019, Friday

2 highly missed from quiz

2. Idencify the characteristics of the function

below
Domain
Range.
Asmprore 10.Consider the first six terms of this sequence:
Xeintereept £,12,24,48,9%,
Yintereept Wit squation aefioesthesequeace’
Cireie o
Increasing o Decreasing Bl g, =645,
End Behavior 9 g=3@r

Asxe -y @) ga= 6 (2"

asxoomyo

Feb 15-11:05 AM

Tind the 8% term in your sequence using the explicit formula

TOTD ~ Geometric Sequences Name
C quence is quence is
decaying.
12620,
Find the 8% term in your sequence using the explicit formula.
TOTD ~ Geometric Sequences Name
8,
sequence.

Feb 15-11:09 AM
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TOTD ~ Geometric Sequences Name

The first term

for Write

Find the 8% term in your sequence using the explicit formula.

TOTD ~ Geometric Sequences Name

Create your

for Write

Find

Feb 15-11:10 AM
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February 26, 2019

Algebra 1~ Day 4,3/1/2018 Unit 4 Test Review Name

1) Write an explicit rule and find the 6% term: 256, 64, 16,4,

2) Consider the sequence 2, 6, 18, 54,
) Tind the next 3 terms 5

Bl
fornula formula
3) Given that a sequence is geometric, gy = 98415, and the common ratio is 3, find g5

For cach of the functions, identify the characteristics.
4) Graph the function fx)~ (2)" -3

Domain:

Range:

x-intercept:
y-intercept: - intercept:
Growth or Decay Increasing or Decreasing

EndBehavior: Rate of change over [-1,2]

6) Describe the PYORETY

7) Write an equation for the given description:

Exponential that has a base of 4,stretched by 3, moved right 7, and up by 1.

8) Given the equation y = 650(1075)*

a Does the equation represent growth or decay?

b, What is the growth factor?

& Whatis the rate of growth?

. What s the nitial value?

e Evaluate for x=9.

9) write a ”
00 000000
oo o 0800380
S 08060060
Dayl  Day2 Day3

How many dots will there be on day 72

10)Tay i i by 15 miles
each day. Write an equation to represent the scenario. How long will it take him to run 26.2 miles?

Feb 15-11:10 AM
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pught a Boston Whaler in 2004 for $12,500. The boat's value depreciates by 7% a year. How
s the boat worth now? How much s it worth in 20207

pulation of a large city increases by a rate of 3% a year. When the 2000 census was taken, the
tion was 1.2 million.

ite a model for this population growth.

hat should the population be now? What is the projected population for 20207

function represents the sequence?
31 Bevt 1 23] 4] s

@t 6@yt 6 15 |54 | 162 | 436

fimetion shows the function f(x) = 3 being translated 5 units to the left?

AF()=3"=5 B.f(x) =37 C.f()=3"° D.f(x)=3"+5
bl function, Write the equati function.
= T o T3 T2 [ 8 [ & |
vy |3 |2 | as | 192 | 768 |

r False: An exponential function will always have an x-intercept.

r False: An exponential function will always have a y-intercept.

Joraph of the following function increasing or decreasing? (x) = %+

19)The table below describes an exponential function.

) Is the function exponential growth or exponential decay?

b) Write the equation of the function.

20)Anitem is p peryear.
describe the value of the item in ryears.

21)Given the function y = 3(2)"™" + 4,
) Daes the function represent growth or decay?

) Whatis the equation of the asymptote?

) Describe the transformations that oceur:

tiony = 512 —

L growth or decay?.

b) What is the equation of the asymplote?

©) Describe the transformations that oceur:
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